5.1)


[image: image1.wmf]ma

F

=

S


->

[image: image2.wmf]y

m

y

b

mg

&

&

&

=

-

2


-> 

[image: image3.wmf]2

2

2

dt

y

d

m

dt

dy

b

mg

=

÷

ø

ö

ç

è

æ

-



[image: image4.wmf]y

y

&

&

&

142

.

0

005

.

0

39

.

1

2

=

-



Further analytical solving isn’t really possible…
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Terminal velocity means no acceleration, so
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From simulation, 
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In view of these simulation results, it seems that accurate models of forces are critical to determining how an object moves. True.

Accurate models of air-resistance forces on baseball exist. True. As long as the ball isn’t spinning.  Also, any surface effects (similar to golf ball dimples) will affect the dynamics.  
5.3)
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2. Intuitively, I would expect the trajectory to also be a sine wave.  

3.
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since constant of integration =0

This almost matches my intuition, but is out of phase from my prediction.

4.
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